KANSAS CORPORATION COMMISSION Oil & Gas Conservation Division

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM **WELL HISTORY - DESCRI**

WELL HISTORY - DESCRIP	PTION OF WELL & LEASE
8061	ORIGINAL
Operator: License #8061 Name: Oil Producers, Inc. of Kansas	API No. 15 - 175-21902 - 60-00
	County: Seward
Address: P.O. Box 8647	e/2_se_nw Sec. 30 Twp. 32 S. R. 31 East west
City/State/Zip: Wichita, KS 67208	2970 feet from S N (circle one) Line of Section
Purchaser: Oneok	2970 feet from E/ W (circle one) Line of Section
Operator Contact Person: Diana Richecky FEB 2 4 2004	Footages Calculated from Nearest Outside Section Corner:
Phone: (.316_) 681-0231 Contractor: Name: Val Energy, Inc.	(circle one) NE (SE) (NW) SW
Contractor. Name.	Lease Name: Birney Irwin Well #: 1-30
License: 5822	Field Name: Arkalon
Wellsite Geologist: William H. Shepherd	Producing Formation: Chase Group
Designate Type of Completion:	Elevation: Ground: 2784' Kelly Bushing: 2789'
New Well Re-Entry Workover	Total Depth: 2800' Plug Back Total Depth: 2710'
Oil SWD SIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 567 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ☑ No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth to sx cmt.
Well Name:	Drilling Fluid Management Plan All 183804
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 28,000 ppm Fluid volume 250 bbls
Plug BackPlug Back Total Depth	Dewatering method used Evaporate
Commingled Docket No	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	Location of huld disposal if hadied offsite.
Other (SWD or Enhr.?) Docket No	Operator Name:
10/29/2003 11/01/2003 01/02/2004	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or	Quarter Sec Twp. S. R East West
Recompletion Date Recompletion Date	County: Doket No.:
INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas 67202, within 120 days of the spud date, recompletion, workover information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs at TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. I months if requested in writing and submitted with the form (see rule 82-3- und geologist well report shall be attached with this form. ALL CEMENTING
All requirements of the statutes rules and regulations promulgated to regulate herein are complete and correct to the best of my knowledge.	e the oil and gas industry have been fully complied with and the statements
Signature:	KCC Office Use ONLY
PRESIDENT 2/23/2004	
Date:	Letter of Confidentiality Attac hed
Subscribed and sworn to before me this 23 day of February	If Denied, Yes Date:
15 2004. A	Wireline Log Received
	Geologist Report Received

UIC Distribution

Notary Public: 4 1/12/2008 Date Commission Expires: DIANA L. RICHECKY Notary Public - State of Kansas My Appt. Expires

Operator Name: Oil	Producers, Inc.	of Kansas		Lease Name: Birney Irwin				Well #: _1-30		
NSTRUCTIONS: 6	S. R. 31	and base of forma	ations pe	netrated.		I cores. Report				
emperature, fluid red	covery, and flow rate s surveyed. Attach	s if gas to surfac	e test, al	ong with f	•			•	•	
Orill Stem Tests Take		☐ Yes •	✓ No		✓ L	og Formatio	on (Top), Depth ar	nd Datum	Sample	
Samples Sent to Ge	ological Survey	Yes	No		Nam	е		Тор	Datum	
Cores Taken	ological callvey		✓ No		Heri	ngton		2590'	+203'	
Electric Log Run (Submit Copy)		✓ Yes	No		Kride	er		2618'	+175'	
ist All E. Logs Run:				*	Winf	ield		2700'	+93'	
	og, Compensate			E	Tow	anda		2754'	+39'	
Log, Sonic Log, Geological Repo	Dual Receiver C	ement Bond L	.og,		LTD)		2802'	-9'	
					RT])	•	2800 '		
	,		CASING F		✓ Ne					
	Size Hole	Report all str		onductor, su Wei		rmediate, producti	on, etc.	# Sacks	Type and Percer	
Purpose of String Surface	Drilled	Set (In O.D		Lbs. 23#		Depth 567	Cement see note #1	Used See note:	Additives	
Production		4 1/2"		10.5#		2796	see note #1	see note	see note #1	
***************************************		ADD	ITIONAL	CEMENTIN	NG / SQ L	JEEZE RECORD				
Purpose:	Depth Top Bottom	Type of Cem	ent	#Sacks	Used		Type and Pe	ercent Additives		
Protect Casing Plug Back TD Plug Off Zone		see note #1		see not	te #1	see note #1	~			
Shots Per Foot		ON RECORD - Br					cture, Shot, Cement		d Depth	
	see initial comp		er varrer	orated		(20)			Deptil	
				Million and a second						

		······································								
TUBING RECORD	Size 3/8"	Set At		Packer A	nt .	Liner Run	Yes ✔ No			
	Production, SWD or Er	2680.71'	cing Metho	nd	······································		100 + 140			
01/02/2004		11000	ang monto	-	Flowing	g ✓ Pumpin	g Gas Lift	Othe	er (Explain)	
Estimated Production Per 24 Hours	Oil	Bbis. G	Sas I	Mcf	Wate	er Bi	ols. G	as-Oil Ratio	Gravity	
Disposition of Gas	METHOD OF C	COMPLETION				Production Interv	vai			
Vented ✓ Sold	Used on Lease		en Hole ner <i>(Specif</i>	Perf.	. , [Dually Comp.	Commingled			

Attachment 1-Birney Irwin #1-30

ORIGINAL

Note #1:

Surface Type of Cement Type and Percent Additives

150 sacks A-con 3% cc, ¼# cellflake/sack 125 sacks 60/40 poz 3% cc, ¼# cellflake/sack

Production

320 sacks Mid-con II PP 2% cc, ½# floseal/sack
150 sacks Premium H 5% calseal, ½# floseal, 10% salt, 5# gilsonite

Squeeze

100 sacks Common

RECEIVED

FEB 2 4 2004

KCC WICHITA



SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX SALES & SERVICE OFFICE:

1700 S. Country Estates Rd. RO. Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

Invoice

	-	nvoic	~			
Bill to:	6395	/ · ·	<u> </u>			der Date 0/30/03
	OIL PRODUCERS INC. OF KANSAS	3.		ervice Descri		J/30/03
	P.O. Box 8647 Wichita, KS 67208	Ceme	 (4) (4) (3) (3) (4) (4) (4) (4) (4) (4) (4) (4) (4) (4			(1911) \$2006(1913)
	FEB 2 4 2004	ł <u> </u>			Wel	7
	KCC WICHI	TA -	Lease Birney-Irv	vin	1-3(
AF				rchase Order	Tern	ເຮ
	T. Thomson S. Frederick	New	Well		Net 3	30
ID.	<u>Description</u>	<u>UOM</u>	Quantity	<u>Unit Price</u>	<u>Price</u>	2
D203	60/40 POZ (COMMON)	SK	125	\$7.84	\$980.00	(T)
D201	A-CON BLEND (COMMON)	SK	150	\$13.08	\$1,962.00	(T)
C310	CALCIUM CHLORIDE	LBS	744	\$0.75	\$558.00	(T)
C194	CELLFLAKE	LB	62	\$2.00	\$124.00	(T)
F163	WOODEN CEMENT PLUG, 8 5/8"	EA	1	\$85.00	\$85.00	(T)
F303	BAFFLE PLATE ALUMINUM, 8 5/8"	EA	1	\$72.00	\$72.00	(T)
D200	COMMON	SK	150	\$10.39	\$1,558.50	(T)
R402	CEMENT PUMPER, ADDITIONAL HRS ON LOCATION	HR	3	\$210.00	\$630.00	
R701	CEMENT HEAD RENTAL	EA	1	\$250.00	\$250.00	
E107	CEMENT SERVICE CHARGE	SK	275	\$1.50	\$412.50	
E100	HEAVY VEHICLE MILEAGE - 1 WAY	MI	25	\$3.25	\$81.25	
E104	PROPPANT / BULK DELIV SERVICES/TON MILE, \$200 MIN	N TM	310	\$1.30	\$403.00	
R302	CEMENT PUMPER, 501-1000' 1ST 4 HRS ON LOC	EA	1	\$935.00	\$935.00	
				Sub Total:	\$8,051.25	
				Discount:	\$2,576.40	
			Discount	Sub Total:	\$5,474.85	
			te Tax Rate: 6.30%	% Taxes: _	\$228.74	
	(T) Taxable Ite	m	Total:	\$5,703.59	

. 0	7	INVOICE NO.	Subio	ct to Correction	FIELD	ORDER	- 6680
	<u> </u>	Date //0 -30 -03 Customer ID	Lease Bicne	ey-Irwin	Well # /-30	Legal 30-3	25-31W
SER	VICES,		SEW Depth	Formation	AS	Shoe Joint	ERAL
	1 Produc	ers of KANSAS	575		1 70	1161	
H A		RECEIVED	Casing SS	Casing Depth	580	Job Type	Surface (N.W.)
R		FEB 2 4 2004	Customer Repre	sentative Thomsen	Treater	Than FRE	Surface (N.W.) DERICH
AFE Number	T	PO NUKIEC WICHITA	Materials Received by	X			
Product Code	QUANTITY	MATERIAL, EQUIPMENT and SE	RVICES USED	UNIT PRICE	AMOUNT	ACCI CORRECTION	OUNTING AMOUNT
203	12554	100/40 Poz (com	mon				
201	150 Sr	A-CON Blend (com	~ \				
1310	744 16	CALCIUM CHlorid	o				
2194	6216	CENFLAKE					
FI63	100	Wooden Plug 83	8			,	
F.303	leg	BAFFLE Plate 85	<i>(c)</i>				
D200	150sh	Common for 1	inch				
Ryoz	3eg	Additional HRS					
R701	lea	CMT GRAD LESTA					
E107	22534	CMT SERVICE C	harso				
£100	25 mi	UNITS / MILES /	•				
£104	310 Tm	TONS 12 MILES C	5				
£104 R302	les	EA. 4hrs PUMP CHA	ARGE				
							5474.85
		Discounted T	OTAL				3984-62
		Plus 7	Ax				
10244 NE	 Hiway 61 · P.O	 	613 - Phone (6	20) 672-1201 - Fax	x (620) 672-5383	TOTAL	<u> </u>

TREATMENT REPORT

					C	ustomer l	D				0	ate				
		IF			c	ustomer	1 ProDu				\dashv	10.	30-05	3		
SER	VICES	مط و القالية			L	ease Bio	Ney - Z	aen		***************************************	1	ease No.	······································	7	Well# /.	-30
Field Order #	Statio		38121			077	Casing	TA		75	6	County SE	WARE			State
Type Job	~	face		vw)				Form	ation		!		Legal D		Hon	5-31W
PIF	PE DATA	744	PE	RFORAT	ING DA	TA	F	LUID L	JSED				TREATM		RESUME	
Casing Size	Tubing S	ize	Shots/F	•			Acid SSA Dre Pad	A.				RATI	PRESS		ISIP	
Depth	Depth		From		То		Pre Pad	- <4 (10	poz	Max				5 Min.	
Volume	Volume		From		To		Pad S			,	Min				10 Min.	
Max Press	Max Pres	8	From		То		Frac	11	<u> </u>	0-0	Avg				15 Min.	
Well Connec	ion Annulus	Vol.	From		То			<u>C</u>	- /		HHP	Used '			Annulus f	Pressure
Plug Depth	Packer D	epth	From		To		Flush WH	TER			Gas	Volume			Total Loa	d
Customer Re	presentative		bns o	7	Stati	on Manag	er Dirk	M	olle,	15		Treater	haun	FR	EDERI	ch
Service Units		<i></i>		26	100		30	7			\exists					
Time	Casing Pressure	Tub Pres	- ,		umped	1	Rate					Ser	rice Log			· L
0/00								DN	10	Cutio	م لہ	Rica	alli	2. 6	D. P.	
d05				REC	EIVE	D)	,	PRS	- TO/	3 San	67	Ric V MEE	TING	9		
0//0			/	EED '	9 4 200	1		RK	هن	PT						
0200								2.2	2 00	TT 0	F f	4068 1	RIGA	g	CASer	
0230			(Parille	(CC V	VICH			51	PET	iv	- 11	CASINA		`		
035								CAS	ina	ON		1/om/	/	un	P.C.	
0320								BR	24	Con	uf	Rib		<i></i>		
0330								1	hrow	L C	2	/ 14	oh hi	145 .	to P.	7.
0335	150	,		72			4	Rin	ns	150	54	A-Cor	101	11.5	-1 <u>2</u>	
0350	50			28		4	<i>!</i> 	Pin	01	25 5	K	60/40	Poz C	/	4.6#	
0 <i>355</i>								5%	JT	Dow	~	Drop	Plug			
0404	Ø			34		4	2			De De						
*	·						5 *	NO	Co	NT TO	<u>}</u>	P7 J	•			
0408	250						2 - 2									
0110	500					ļ	<u> </u>	4	MD	Plug						
0413						<u> </u>		RE	t 51	KUT	in	P.C.				
0415						 		i		lines						
0430						 _		35	<u>. E.</u>	ampl	240	_ WA	HIT OF	U /	nop5	Cont
<u> 6830</u>				3 3		2						shs C		e	13#	
09/0				(28	ols)	 		T				face			,	
0930	AA NE LE	1014 G	1 . 5	0 B	0640		VO 674	Sh	07 F	70m9	10	WASH /	nes to	Pi	+/ Jo	B Complete
102	44 NE Hiv	vay o	انتيس	U. BOX	0013	THE III	, NO 0/1	24-86	13 0	-none	(62(J) 072-12	ur • Fa	X (b	ZU) 672	-0000

SALES ORDER

· HALLIBURTON

Halliburton Energy Services, Inc.

ORIGINAL

RM

Sales Order Number: 2753635 Sales Order Date: November 02, 2003

SOLD TO:

OIL PRODUCERS INC OF KANSAS

BOX 8647

WICHITA KS 67208

USA

FEB 2 4 2004

KCC WICHITA

RECEIVED

SHIP TO:

OIL PROD BIRNEY-IRWIN 1-30, SEWARD

BIRNEY-IRWIN

KISMET KS 67859

USA

Rig Name:

Well/Rig Name:

Company Code:

OIL PROD BIRNEY-IRWIN 1-30, SEWARD 1100

Customer P.O. No.:

N/A

Shipping Point: Sales Office:

Liberal, KS, USA Mid-Continent BD

Well Type:

Gas

Well Category:

Development

Service Location:

0037

Payment Terms:

Net due in 20 days

Ticket Type:

Services

Material	Description	QTY	иом	Base Amount	Unit Amount	Gross Amount	Discount	Net Amount
7523	PSL - CMT PRODUCTION CASING - BOM	1.0	ОЈОВ					
	JP035							
1	"ZI-MILEAGE FROM NEAREST HES	40.000	Mi		5.28	/ 211.20	105.60-	105.60
	Number of Units	1	unit					
86955	ZI FUEL SURCHG-HEAVY TRKS >1 1/2 FUEL SURCHG-HEAVY TRKS >1 1/2 TON/PER MI	40.000	MI		0.24	9.60		9.60
	Number of Units	1	unit					
2	MILEAGE FOR CEMENTING CREW,ZI	40.000	MI		3.11	124.40	62.20-	62.20
	Number of Units	1	unit					
86954	ZI FUEL SURCHG-CARS/PICKUPS < 1 FUEL SURCHG-CARS/PICKUPS < 1 1/2TON/PER/MI	40.000	MI		0.08	3.20		3.20
	Number of Units	1	unit					
1	ZI - PUMPING CHARGE 001-016	1.000	EA		2,594.00	2,594.00	1,297.00-	1,297.00
1	DEPTH FEET/METRES (FT/M)	2,850						
	FEET/METRES (FT/M)	FT						
1	ADDITIONAL HOURS (PUMPING EQUIPMENT), ZI	1.000	EA					
	001-018 / CSG PUMPING,ADD HR,ZI							

RECEIVED

FEB 2 4 2004

ORIGINAL

* Halliburton Energy Services, Inc.

			7			Date: No		
Material	Description	QTY	иом	Base Amount	Unit Amount	Gross Amount	Discount	Net Amount
	HOURS	2	hr					
132	PORT. DAS W/CEMWIN;ACQUIRE W/HES, 045-050	1.000			962.00	962.00	481.00-	481.0
	NUMBER OF DAYS	1	Days					
142	AXIAL FLOW MIXER, W/O ADC,/JOB,ZI 046-070	1.000	EA		665.00	665.00	332.50-	332.50
	NUMBER OF JOBS	1	Job					
74038	ZI PLUG CONTAINER RENTAL-1ST DAY DAYS OR FRACTION (MIN1)	1.000 1	EA Days	770.00	770.00	770.00	385.00-	385.00
100004722	SHOE,GID,4-1/2 8RD	1.000	EA		173.23	173.23	86.62-	86.61
	SHOE,GUIDE, 4-1/2 8RD							
100013745	PLUG ASSY - 3W LATCHDOWN - 4-1/2 IN	1.000	EA		363.36	363.36	181.68-	181.68
	593801.0373 / PLUG ASSY - 3 WIPER LATCH- DOWN - 4-1/2 / CSG							
100004364	BAFFLE ASSY - 4-1/2 8RD LATCHDOWN PLUG	1.000	EA		151.31	151.31	75.66-	75.65
	/ 594801.03734 / BAFFLE - CAST IRON - 4-1/2 8RD LATCH / DOWN PLUG							
100004491	CTRZR ASSY,TURBO,API,4 1/2 CSG X 7 7/8	5.000	EA		90.96	454.80	227.40-	227.40
	40 806.60104 / CENTRALIZER ASSY - TURBO -							
	API - / 4-1/2 CSG X 7-7/8 HOLE - HINGED - / W/WELDED IMPERIAL BOWS AND FLUID / DEFLECTOR FINS						,	
.00004638	CLAMP-LIMIT-4 1/2-FRICT-W/DOGS	1.000	EA		34.65	34.65	17.33-	17.32
ŀ	XXXXXXX 806.72720 / CLAMP - LIMIT - 4- 1/2 - FRICTION - / W/DOGS							
00005045	KIT,HALL WELD-A	1.000	EA		36.86	36.86	18.43-	18.43
}	KIT, HALLIBURTON WELD-A / (1 kit per fiberboard box)							

Halliburton Energy Services, Inc.

RECEIVED

ORIGINAL

FEB 2 4 2004

Sales Order Number: 2753635 KCC WICHITA ales Order Date: November 02, 2003

				Base	Unit	Gross		N
Material	Description	QTY	UOM	Amount	Amount	Amount	Discount	Net Amount
13383	SBM MUD FLUSH,ZI	500.000	GAL		1.26	630.00	315.00-	315.00
	018-315 / SBM MUD FLUSH,ZI							
100003639	LB BAG	6.000	SK		171.00	1,026.00	513.00-	513.00
	516.00114 / CHEMICAL - HALLIBURTON SUPER FLUSH							
15079	SBM MIDCON 2 PREMIUM PLUS	320.000	SK		26.05	8,336.00	4,168.00-	4,168.00
	/ 504-282 SBM MIDCON 2 PREMIUM PLUS /							
100005053	Chemical - Calcium Chloride Hi Test Plt	6.000	SK		119.47	716.82	358.41-	358.41
	509-406890.50812 / CALCIUM CHLORIDE - HI TEST PELLET - / 94-97% CACL 2 - 80# BAG							
100005049	Chemical - Flocele (25 lb sk)	118.000	LB		2.86	337.48	168.74-	168.74
	/ XXXXXXX 890.50071/ / FLOCELE - 3/8 - 25 LB SACK							
100003687	CEM,CLASS H / PREMIUM, BULK	150.000	sk		22.69	3,403.50	1,701.75-	1,701.75
	CEMENT - CLASS H - PREMIUM - BULK / CEMENT - CLASS H - PREMIUM - BULK							
100064022	Chem- Calseal 60 (Bulk)	7.000	SK		56.94	398.58	19 9 .29-	199.29
i i	508-127516.00335 / CHEMICAL - CAL SEAL - BULK							
.01007446	CHEM,D-AIR 3000, 40 LB BAG	38.000	LB		5.88	223.44	111.72-	111.72
	Chemical - D-Air 3000							
00003700	Chem- Gilsonite (Bulk)	750.000	LB		0.83	622.50	311.25-	311.25
[508-292 516.00337 / CHEMICAL - GILSONITE - BULK							
00003670	CHEMICAL - HALAD-344 - 50 LB SACK	103.000	LB		45.61	4,697.83	2,348.92-	2,348.91

* Halliburton Energy Services, Inc.

RECEIVED

ORIGINAL

FEB 2 4 2004

Sales Order Number: 2753635 KCC WICHITA Sales Order Date: November 02, 2003

Material	Description	QTY	иом	Base	Unit	Gross	Dia	Net
Material	XXXXXXX 516.00227 / CHEMICAL - HALAD-	UIT	UOW	Amount	Amount	Amount	Discount	Amount
	344 - 50 LB SACK							
100002605		742.000	I.D.		2.25	402.00		
100003093	CHEM, SALT,CEM GR,BULK	742.000	LB		0.26	192.92	96.46-	96.46
	509-968516.00315 / SALT - CEMENT GRADE - BULK							
3965	HANDLE&DUMP SVC CHRG, 500-207	542.000	CF		2.96	1,604.32	802.16-	802.16
	NUMBER OF EACH	. 1	each					
76400	ZI MILEAGE,CMT MTLS DEL/RET MIN 500-306 / MILEAGE,CMTG MTLS DEL/RET PER/TON MI.MIN	1,209.000	MI		1.81	2,188.29	1,094.15-	1,094.14
	NUMBER OF TONS	1.00	ton				3.	
	ZI FUEL SURCHG-CMT & CMT ADDITIVES FUEL SURCHG-CMT & CMT ADDITIVES/PER TNM	1,209.000	МІ		0.08	96.72		96.72
1	NUMBER OF TONS	1.00	ton				-	
	SALES ORDER AMOUNT Sales Tax - State Sales Tax - County	/				31,028.01	15,459.27-	15,568.74 577.68 109.00
	SALES ORDER TOTAL							16,255.42 US Dollars
	Total Weight: 53,877.14 LB	-						US Dollars

INVOICE INSTRUCTIONS:					
Operator Name:	Hail	liburton Approva	al: X		
Customer Agent:	Cus	tomer Signature	e: X		

RECEIVED

Halliburton Energy Services, Inc.

INVOICE INSTRUCTIONS:

FEB 2 4 2004

ORIGINAL

Sales Order Number: 2753635

KCC WICHITA

Sales Order Date: November 02, 2003

Material	Description	QTY	иом	Base Amount	Unit Amount	Gross Amount	Discount	Net Amount
3965	HANDLE&DUMP SVC CHRG, 500-207	542.000	CF		2.96	1,604.32	802.16-	802.10
	NUMBER OF EACH	1	each		The state of the s			
76400	ZI MILEAGE,CMT MTLS DEL/RET MIN 500-306 / MILEAGE,CMTG MTLS DEL/RET PER/TON MI.MIN	1,209.000	MI		1.81	2,188.29	1,094.15-	1,094.14
	NUMBER OF TONS	1.00	ton					
37605	ZI FUEL SURCHG-CMT & CMT ADDITIVES FUEL SURCHG-CMT & CMT ADDITIVES/PER TNM	1,209.000	МІ		0.08	96.72		96.72
	NUMBER OF TONS	1.00	ton					
	SALES ORDER AMOUNT Sales Tax - State Sales Tax - County					31,164.84	15,527.68-	15,637.16 581.31 109.68
	SALES ORDER TOTAL							16,328.15 US Dollars
	Total Weight: 53,880.14 LB ### ### ### ### ###################	2			51600	103200		NE
		A		Origi	MAL			
		R		Ollin	4			

Operator Name: Customer Agent:	Halliburton Approval: X Customer Signature: X

HALLIBURTON JOB SUMMARY					5	11/02/03			
REGIÓN X Central Operations	Mid Contitner			MC/Ks		SEWARD			
MBUID/EMPL# MCLI0110 / 217398	H.E.S EMPLOYEE NAME Mickey Cochr	an	-	PSL DEPARTMENT Cement	\bigcap	RIGI	$N\Delta$		
LIBERAL	OIL PRODUCI		KS	CUSTOMER REP / PHONE TIM THOMP	-	1 	-620-48	2-2943	
TICKET AMOUNT	WELL TYPE 01 Oil	LINO OI	10.	API/UWI#	3014		-020-40	72-23 - 3	
\$16,328.15 WELL LOCATION	DEPARTMENT			SAP BOMB NUMBER	Ce	ment Produ	ction Ca	ising -	
	ZI lo. SEC/TWP/RNG			7523 HES FACILITY (CLOSEST	1				
<u> </u>	0 30 - 32S - 31W			Liberal, Ks					
HES EMP NAME / EMP # / (EXPOSURE HOURS) HRS Cochran, M 217398 11.0			HRS RECE	IVED	HRS			HRS	
Clemens, A 198516 11.0			FFDA	8					
Archuleta, M 226383 11.0 Schawo, N 222552 11.0			FEB 2	† 2004	$\dashv \dashv$				
H.E.S. UNIT#S/(R/TMILES) R/TMILES		R/TI	MILES KCC WI	СНІТА	R/TMILES			R/TMILES	
10547690 40 10251403 40				9 8 8 9 9 9 9					
10243558/10011277 50									
10010752/10011272 50 Form. Name Type									
Form. Thickness From _	To			On Location		Started	Job Co	ompleted	
Packer Type Set A Bottom Hole Temp. Pres	At	Date	11/2/2003	11/2/2003		1/2/2003	11	/2/2003	
	Depth	Time	0430	0630		1535	16	32	
Type and Size Qty	Make		New/Used		Grade	From	То	Max. Allow	
Float Collar BAFFLE 1 Float Shoe	0	Casing Liner		10.5# 4 1/	2"	0	2,796		
Centralizers 5	W	Liner							
Top Plug LATCH DOWN 1 HEAD 1 H	C	Tubing Drill Pip	ne l						
Limit clamp 1	0	Open H	lole	7	7/8"			Shots/Ft.	
Weld-A 1 1 Guide Shoe 1	W C	Perforat Perforat							
BTM PLUG Materials	0	Perforat		Operating Hour		\ Deceriptio	n of Joh		
Mud Type Density	Lb/Gal	Date	Hours	Date Ho	ours	Cement P			
Disp. Fluid Density Prop. Type Size	Lb/Gal	11/2	11.0	11/2	1.0			g	
Prop. Type Size Acid Type Gal.	Lb								
Acid Type Gal.	%								
NE Agent Gal.	in								
Fluid Loss	In 								
Fric. Red. Gal/Lb		Total	140	Takal a					
Breaker Gal/Lb Blocking Agent Gal/L	ln b	Total	11.0		.0		``		
Perfpac BallsQty. Other		Ordered	1	Hydraulic Hors Avail.	sepower	Used			
Other Other				Average Rates	in BPM				
Other		Treating	1	Disp. Cement Left	in Pipe	Overall			
Other		Feet		Reason		SHOE	JOINT		
1000000000000000000000000000000000000				ewy salacji i i ny	- 18 <u>1</u>	<u> </u>			
Stage Sacks Cement Bulk/Sks 1 320 MIDCON II PP		Additives				W/Rq. 17.88	Yield 2.91	Lbs/Gal	
2 150 PREMIUM H	5%CALSEAL - 1/4#	FLOCELE	- 10%SALT - 5#GIL	SONITE -	.25%D-A		1.42	11.40 15.00	
3 4									
				2.11					
	acement	Sum	Preflush:	BBI	24.00	Type:	H2O,S	-F,M-F	
Breakdown MAXI Lost Returns-Y Lost F	MUM Returns-N		Load & Bkdn: (Excess /Return	Gal - BBI		Pad:Bbl -C	al		
Cmt Rtm#BblActua	I TOC Gradient		Calc. TOC:			Actual Dis		44	
Shut In: Instant5 Min	15 Min	l	Cement Slurry		204.0	Disp:Bbl			
Frac Ring #1 Fi	ac Ring # 2	Spanis 1	Total Volume Frac Ring #		72.00	ac Ring # 4			
THE INFORMATION STATED I					IFI	<u>ao mily # 4</u>			
CUSTOMER REPRESENTATIV			fric >	Mos.	n				
				GNATURE					

RECEIVED FEB 2 4 2004

ORIGINAL

						<u> </u>	(Sr)				
REGION	LIBL	JPT	ON	JOB	LOG	KCC	MICH	7/€≷€T# 2753635	11/02/03		
Central O					tnent/U			MC/Ks	COUNTY SEWARD		
MCLI0110			F	MPLOYEE	NAME Ochran			PSL DEPARTMENT Cement			
LOCATION	7721700		COMPA	NY		OF KO		CUSTOMER REP / PHONE			
LIBERAL TICKET AMOUNT			WELLT	PROL YPE	UCERS			TIM THOMPSO	N 1-620-482-2943		
\$16,328.1	5		DEPART	MENT	01	Oil		JOB PURPOSE CODE			
NORTH O	F KISME		ZI					Cemen	nt Production Casing		
LEASE NAME BIRNEY-II	RWIN	Well No		WP/RNG 325 - 3	1W			HES FACILITY (CLOSEST TO V	WELL (
HES EMP NAME/EMP # (E		HR	S HES EMP NAME/	MP#(EXPOSI	URE HOURS)	HRS HES EMP N	AME/EMP # (EXPOSU		HES EMP NAME/EMP # (EXPOSURE HOURS) HRS		
Cochran, N		11									
Clemens, A		11				<u> </u>					
Archuleta,							>				
Schawo, N	222552	11	. 40. 24751 Po	. 79.03952-6	"EEWesdig	Jako M. Stranza Maria	similar of in which	o tark a c. This light hell that will have been been been been been been been be			
Chart No.	Time	Rate	Volume	Rate N2		s.(PSI)		Job Des	cription / Remarks		
33333	0830	(Or my	(DDE)(OAL)	3 310000	7 000.	The part of the pa		JOE	READY		
	0/4(0)								i) → elf, x(e):		
	0500						PRETRIP	SAFTY MEETING			
	0600		ļ				ARRIVE O	N LOCATION			
	0605						PREJOB SAFTY MEETING W/ HALLIBURTON CREW				
	0800						SPOT EQUIPMENT RIG UP EQUIPMENT				
	0010		 				RIG UP EC	QUIPMENT			
	1115					7	START CA	SING			
	1500						CASING O	N BOTTOM & CIRC	ULATE W/ RIG PUMP(S)		
	1-0-										
	1535 1537	ΕΛ	2.0		2500			E TEST PUMPS & L	INES		
	1537	5.0 5.0	3.0 6.0		120 120			ESH H2O AHEAD PER FLUSH			
	1540	5.0	3.0		120			ESH H2O BEHIND			
	1540	5.0	12.0		120		START MU				
	1542	6.5	160.0		125	,	START LE	AD CEMENT 320 SK	(S @ 11.4#		
	1607	6.5	38.0		400		START TA	IL CEMENT 150 SKS	S @ 15#		
	1617							VN & WASH PUMP	& LINES		
	1618 1621	9.0	44.0		400		DROP PLU				
	1623	8.0 7.0	44.0 12.0		100 250			SPLACEMENT W/ FF			
	1627	2.0	34.0		450		SLOW RAT		MENI		
	1631	2.0	44.0		1150		BUMP PLU				
					610			BEFORE PLUG LA			
							CIRCULAT	ED CEMENT TO PIT	· V		
				-+							
											
							Т	HANK YOU FOR CA	LLING HALLIBURTON		
								MICKEY	& CREW		



SALES OFFICE:100 S. Main
Suite #607
Wichita KS 67202
(316) 262-3699
(316) 262-5799 FAX

SALES & SERVICE OFFICE: 10244 NE Hiway 61 P.O. Box 8613 Prett, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX

SALES & SERVICE OFFICE: 1700 S. Country Estates Rd. RO. Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

Invoice

								7		
Bill to:			63959	01	Invoid	e In	voice Dat	e C)rder	Order Date
	OII	PRODUCERS INC. OF	CKANSAS		31109	3	11/28/03	7	7273	11/20/03
		. Box 8647	TO II TO ID			14 m (4)	Service	Descrip	otion	
		hita, KS 67208	RECEIVED	ď	Cement					
			FEB 2 4 200	4		Leo	ase			Well
			KCC WICH	ITA	1		-Irwin			- 30
AF	E	CustomerRep	Treater		Well :	Гуре	Purchas	e Order	T	erms
		Tim	K Gordley		New Wel	1			N	et 30
<u>ID.</u>	Des	cription		U	<u>OM</u>	Quantit	y <u>Uni</u>	t Price	<u>P</u>	<u>rice</u>
D200	CO	MMON		SK	ζ.	10	0 \$	10.39	\$1,039.	(T) 00
C310	CA	LCIUM CHLORIDE		LE	3S	28:	2	\$0.75	\$211.	50
E107	CEI	MENT SERVICE CHAR	kGE	SK	ζ	10	0	\$1.50	\$150.	00
E100	HE	AVY VEHICLE MILEA	GE - 1 WAY	M	I	2	1	\$3.25	\$68.	25
E104		OPPANT / BULK DELI LE, \$200 MIN	V SERVICES/TON	TN	М	15	4	\$1.30	\$200.	20
R306		MENT PUMPER, 2501- LOC	3000' 1ST 4 HRS	EA	A		1 \$1,5	12.00	\$1,512.	
R700	SQI	JEEZE MANIFOLD		EA	A		1 \$4	30.00	\$430.	00

Sub Total: \$3,610.95

Discount: \$830.67

Discount Sub Total:

\$2,780.28

Seward County & State Tax Rate: 6.30%

Taxes:

\$50.40

(T) Taxable Item

Total:

\$2,830.68

intangible

Cement for Squares

ENTERED

DEC 0 8 2003

TREATMENT REPORT RIGINAL

E						Custome	rID			D	ate			
						Custome	PROD.	Due of	2 Ks		il	- 20 -	-03	
SER	V I C E E		3 3	e.	_	Lease	TRNEY	1-IR	NIN		ease No.		Weil #	-30
Field Order	3 Stati	on /	UA	T. I	35		Casing	1/2 Depth		C	ounty 5E	WAR	D	State // S
Type Job	WEE	7.13	-1	Tw	,			Formation	DWF	D ?		Legal Descri	ption 30	7-32-3
	PE DATA		PE	RFORA	TING	DATA	F	LUID USED	7-7-			REATMEN"		
Casing Size	Tubing	Size	Shots/F	1/5	1		Acid				RATE	PRESS	ISIP	
Depth	Depth	2 /		27/0	-	2728	Pre Pad			Mex			5 Min.	
Volume	Volume	70	From	211 Q	1	1100	Pad	RECEI\	/FN	Min			10 Min.	
Max Press	Max Pro	566	From		То		Frac	MEGLIN	Lame best	Avg		 	15 Min.	
Weil Connect	ion Annulus	s Vol.	From		То			FEB 24	2004	HHP	Used		Annulus	Pressure
Plug Depth	Packer	Depth	From	·····	То		Flush	KCC WIC	HITA	Gas	Volume		Total Load	
Customer Re	presentative		From		To	Station Man		10011		Щ	Treater //	1	041	<i>al</i>
		12,	W/		+		7700	109	T			(207	esce	
Service Units	Casing	Tu	bing	107		26	38	172	<u> </u>			<u> </u>	<u> </u>	
Time	Pressure		esure	Bbis.	Pumpe	ed	Rate	17.4	/ .		Servic	ce Log		
<u>1830</u>		-						11/C	la	<u>M</u>	4120			
		<u> </u>						1 /E	ef5		27/1	8-27	28	
***************************************		ļ						KET	MIK	E	<u>e-z</u>	710		
								1	, ,					
							· · · · · · · · · · · · · · · · · · ·	KUN	IB	2	AND	573h	1657	<u>e</u>
								573	WC	B	W			
225	500	١			-7	7	2_	LOW	0 \$		5D 11	PA	NNU	ums
		5	රුර	1	3	-	3	IN	T.K	AT	ETR	2-3	BPm.	-500#
230		3	<u>ල</u>		2	,	2	MI	XI	00	SI Co	musica	WZ	%000
		3	<u>w</u>	1	0/	2	Z	6			,	SEFS-		
738			20		8		2				-	- 80		
			∞	Ž	2/		1/2	100	50.	11/2	ING	<u>-</u>		
		100	∞	(2		/	57	PRI	-//	SZSF)		
			00	د.	3		1/2	570	DP	9	mt	,		
								574	CE	F	or 1	0 111	owu.	TES
1250		15	700	3	1/2		1/4	Her	0)		bott			
								57	DUC		901			
1300	1000-2	20		1	8		1/7-				00	ce T		
												^		
								6086	Pame	EU)	Teat	HERI	<u></u>	_
1330								JOB		_		THANK	US-	LEVA
	AA NE H	MON F	31 a D	O Roy	, 96	12 e Dra	++ KC 671	24-8613						

	e e e e e e e e e e e e e e e e e e e			31	1093	-		ORIG	ΙΝΔΙ
· I	•	Γ	INVOICE NO.	Subject	t to Correction	Œ	ELD O	RDER	7273
			Date 1/-20-03	Lease		EWIN Wel	1#/-3c	Legal 30	-32-31
SER	LCES		Customer ID	County	WARD	Stat	ks	Station	ATT KS
-07	POOL	TUS	AF KS	Depth 27/7-27	Formation	WINFI	D57_1	Shoe Joint	
С <u>ОЛ</u>	/ RUE)	mc.	01 718,	Casing	Casing Depth	TD		Job Type SQUE	75-1111
Ř				Customer Repres	entative	1	Treater	, nor	DET
Ε					and the state of t	1	1	/	
AFE Number		PO Num	ber	Materials Received by	X			- Lu	DI INTEND
Product Code	QUANTITY	MATER	IAL, EQUIPMENT and S	ERVICES USED (UNIT PRICE	AMOUN	r c	CORRECTION	OUNTING AMOUNT
Divo	Pasc	Com	mon CÉ	MENT	/	<u> </u>			
0310	282/6	Me	IIM CK	ORDIS	~				
			REC	EIVED					
				2 4 2004					
			France Control	/ 1 /00 T					
			KCC	MICHIN-					
									/
									-
									,
-									
E/07	100SL.	Con	AUT SEPU	CHAPLE					
E/00	ZImile	UNITS	MILES						
BIOY	SIM	TONS	MILES						
R-306	IBA,	EA.	PUMP CI	IARGE					
£700	15A.	SQU	EEVE MI	HNDFOR	p				
					ļ				
			00 = =						
			MICE	5		2780	28		
10244 NE H	liway 61 · P.O	. Box 8613	- Pratt, KS 67124-	8613 - Phone (62	0) 672-1201 - 1	ax (620) 672	-5383 то	TAL	

1

RECEIVED

FEB 2 4 2004

KCC WICHITA

ORIGINAL

OIL PRODUCERS, INC. OF KANSAS SET & CEMENT PRODUCTION CASING

WELL - BIRNEY IRWIN #1-30

LEGAL - E/2-SE-NW of SEC. 30-32s-31w

API#- 15-175-21902

G.L. - 2783'

K.B. - 10' ABOVE G.L. @ 2793'

SURFACE CSN - 8 5/8" @ 567'

RTD - 2800'

LTD - 2802'

CASING ON LOCATION - 70 JTS, 41/2" 10.5# NEW R-3 CSN. (2968.86')

CASING RAN - 66 JTS, 4 1/2" 10.5# NEW R-3 CSN (2796.27")

CASING CHARGED - ALL FROM SMITH SUPPLY OPIK STOCK

CASING SET - 2796'

D.V. TOOL SET @ - NONE

SHOE JT - 12.40

TOP INSERT - 2783.87'

CENTRALIZERS SET @ - 2783'-2654'-2527'-2356'-2183'

BASKETS SET @ - NONE

FLUSH - 6 BBL H20 SPACER - 6 BBL SUPER FLUSH - 6 BBL H20 SPACER - 6 BBL MUD FLUSH

CEMENT -

PACKER SHOE SET @ - NONE

DRILLING CONTRACTOR - VAL RIG #2

CEMENT CONTRACTOR - HALLIBURTON

PLUG DOWN @ - 4:31 PM 11/2/03

NOTES - HAD GOOD CIRCULATION THROUGHOUT CEMENT JOB. PUMP. PLUG DOWN. PRESSURE TO 2000#. HELD OKAY. CEMENT DID CIRCULATE TO SURFACE

OIL PRODUCERS, INC. OF KANSAS INITIAL COMPLETION REPORT

WELL - BIRNEY IRWIN #1-30

RECEIVED

LEGAL - E/2-SE-NW of SEC. 30-32s-31w

FEB 2 4 2004

<u>API#</u> - 15-175-21902

KCC WICHITA

G.L. - 2783'

K.B. - 2793' - 10' ABOVE G.L.

SURFACE CSN - 8 5/8" @ 567' w/ 425 SXS CEMENT

RTD - 2800'

LTD - 2802'

PRODUCTION CSN - 41/2" 10.5# NEW R-3 @ 2796' w/ 320

TOP OF CEMENT - SURFACE

PBTD - 2710' - AFTER SETTING CEMENT RETAINER SQUEEZE OFF NON COMMERCIAL WINFIELD PERFORATION

PERFORATIONS -	WINFIELD -	2717-2727'	1/FT	11/19/03
	LOWER KRIDER -	2676-2681'	2/FT	11/24/03
	LOWER KRIDER -	2654-2664'	2/FT	11/24/03
	UPPER KRIDER -	2625-2635'	2/FT	11/24/03
	HERINGTON -	2592-2598'	2/FT	11/25/03

COMPLETION DATE - 11/03

TUBING RAN - M.A. - S.N. 84 JTS 2 3/8" (2649.01')

TUBING SET @ - 2680.71'

AVERAGE TBG JT. - 3153'

PUMP RAN - 2' x 11/2" x 12' RWB HOLLOW ROD PUMP

RODS RAN - PUMP 2' SUB 1043/4" RODS 8'-6'-2' 3/4" SUIBS P.R. LINER

SURFACE EQUIPMENT - LUFKIN-160 STRAP JACK w/ C-96 ENGINE UNIT NEW w/ H.P. **ELECTRIC MOTOR**

FEB 2 4 2004

KCC WICHITA

ORIGINAL

11/19/03

COMANCHE WELL SERVICE ON LOCATION TO RIG UP D-D DERRICK.

ELI WIRELINE ON LOCATION TO RUN CORRELATION & SONIC BOND LOG. FOUND TTL DEPTH - 2780'
FOUND TOP OF CEMENT - AT SURFACE w/ EXCELLENT BONDING ACROSS PAY INTERVALS.

COMANCHE RIGGED TO SWAB $4\frac{1}{2}$ " CSN. SWAB CSN DOWN TO 2200' FROM SURFACE.

ELI WIRELINE ON LOCATION TO PERFORATE PROPOSED PAY INTERVAL IN WINFIELD FORMATION UTILIZING 32 GRAM EXPENDABLE CSN GUN. PERFORATE WINFIELD - 2717-2727' 1/FT 11/19/03

COMANCHE SWABBED CSN DOWN TO TOTAL DEPTH AT 2780'.

½ HR NATURAL TEST WINFIELD - REC. 0 BBLS, SLIGHT SHOW OF GAS.

½ HR NATURAL TEST WINFIELD - REC. 0 BBLS, SLIGHT SHOW OF GAS.

ACID SERVICE AND MOJAVE SERVICE ON LOCATION TO ACID STIMULATE WINFIELD PERFS w/ 500 GALS 15% DSFE ACID.

ACIDIZE WINFIELD PERFORATIONS AS FOLLOWS:

PUMP 500 GALS 15% DSFE ACID LOAD HOLE W/ 44 BBLS 2% KCL WATER PRESSURE TO 1000#. BROKE BACK QUICKLY. DISPLACE ACID AT 3 BPM - 150# ISIP - VACUUM TTL LIQUID LOAD = 56 BBLS

COMANCHE RIG TO SWAB WINFIELD PERFS AFTER ACID.

SWAB TEST WINFIELD PERFORATIONS AFTER ACID AS FOLLOWS:

SWAB 4½" CSN TO TTL DEPTH. RECOVERED 46 BBLS. SHOW OF GAS.

½ HR SWAB TEST - REC. 5.25 BBLS.SHOW OF GAS½ HR SWAB TEST - REC. 2.62 BBLSTEST GAS AT 6.39 MCF½ HR SWAB TEST - REC. 2.62 BBLSTEST GAS AT 6.39 MCF½ HR SWAB TEST - REC. 2.10 BBLSTEST GAS AT 7.06 MCF½ HR SWAB TEST - REC. 2.10 BBLSTEST GAS AT 7.06 MCF½ HR SWAB TEST - REC. 1.57 BBLSTEST GAS AT 7.06 MCF

SHUT WELL IN. SHUT DOWN FOR NIGHT.

11/20/03

COMANCHE WELL SERVICE ON LOCATIO TO CHECK PRESSURE ON CSN. SICP - 120# BOTTOM HOLE PRESSURE
RAN CSN. SWAB FLUID WAS 2280' FROM SURFACE. REC. 8.40 BBLS.
1/2 HR SWAB TEST - REC. 2 BBLS, TEST GAS AT 7.0 MCF
1/2 HR SWAB TEST - REC. 2 BBLS, TEST GAS AT 6.8 MCF
DECIDED WINFIELD ZONE TO BE NONCOMMERCIAL DUE TO AMOUNT OF WATER AND LACK OF NATURAL GAS.

ELI WIRELINE ON LOCATION w/ T.R. SERVICE TO SET CEMENT RETAINER OVER WINFIELD PERFORATIONS. SET CEMENT RETAINER AT - 2710' 11/20/03 CONT.

COMANCHE WELL SERVICE RIGGED TO RUN 2 3/8" W/ CEMENT RETAINER IGNAL STINGER.

RIH - w/ TUBING AND CEMENT RETAINER STINGER.

ACID SERVICE ON LOCATION TO SQUEEZE WINFIELD PERFORATIONS w/ 150 SXS COMMON CEMENT.

RECEIVED

SQUEEZE WINFIELD PERFORATIONS AS FOLLOWS:

FEB 2 4 2004 KCC WICHITA

I OAD ANNULUS & PRESSURE TO 500# & HELD OKAY. ESTABLISH INJECTION RATE VIA TBG @ 3 BPM - 500# MIX & PUMP 100 SXS COMMON CEMENT DISPLACE 60 SXS CEMENT INTO PERFS AT 2 BPM - VAC - 1500# PULL OUT A RETAINER W/ STINGER, REVERSE CIRCULATE 40 SXS OUT & CIRCULATE HOLE CLEAN. POOH - w/ TUBING AND CEMENT RETAINER STINGER

SHUT WELL IN. SHUT DOWN FOR WEEKEND.

11/24/03

COMANCHE WELL SERVICE ON LOCATION. RIGGED TO SWAB 41/2" CSN. SWAB CSN DOWN TO 2200' FROM SURFACE.

ELI WIRELINE ON LOCATION TO PERFORATE PROPOSED PAY INTERVALS IN HERINGTON AND KRIDER FORMATIONS UTILIZING 32 GRAM EXPENDABLE CSN GUNS.

LOWER KRIDER -2676-2681' 2/FT PEFORATE -2654-2664' LOWER KRIDER -2/FT 2/FT UPPER KRIDER -2625-2635 2592-2598' 2/FT HERINGTON -

FOUND TTL DEPTH @ - 2709'

COMANCHE SWABBED 41/2" CSN DOWN TO TTL DEPTH. 1/2 HR NAT. SWAB TEST - RECOVERED 0 BBLS, SLIGHT SHOW OF GAS

ACID SERVICE ON LOCATION TO ACID STIMULATE ALL HERINGTON AND KRIDER PERFS w/ 2500 GALS 15% DSFE ACID AND 91 BALL SEALERS.

ACIDIZE HERINGTON AND KRIDER PERFORATIONS AS FOLLOWS:

PUMP 500 GALS 15% DSFE ACID. PUMP 2000 GALS 15% DSFE ACID w/ 91 BALL SEALERS SPACED EQUALLY. PRESSURE TO 1500#, BROKE BACK. DISPLACE 500 GALS ACID @ 7 BPM - 250#. DISPLACE 2000 GALS ACID @ 7BPM - 250# TO 2500#, BALLED OFF. SURGE PRESSURE BACK TO ACID TRUCK. DISPLACE REMAINING ACID @ 3 BPM - 400#. ISIP - 365# TTL LIQUID LOAD = 105 BBLS.

COMANCHE RIGGED TO SWAB TEST HERINGTON AND KRIDER PERFS AFTER ACID.

SWAB TEST HERINGTON AND KRIDER PERFORATIONS AFTER ACID AS FOLLOWS:

COMANCHE SWABBED CSN DOWN TO TTL DEPTH. REC. 67.72 BBLS.

1/2 HR SWAB TEST - REC. 3.15 BBLS TEST GAS AT 12.1 MCF

1/2 HR SWAB TEST - REC. 3.15 BBLS

TEST GAS AT 12.1 MCF

1/2 HR SWAB TEST - REC. 1.57 BBLS

TEST GAS AT 12.1 MCF

11/24/03 CONT.

ACID SERVICE & GORE NITROGEN ON LOCATION TO FRACTURE STIMULATE ALL HERINGTON AND KRIDER PERFS w/ 32.000 GALS 70% NITROGEN FOAM AND 31,000# 12/20 BRADY SAND, TAILING IN w/ 4000# RESONATED AC-FRAC SAND TO MINIMIZE SAND PRODUCTION.

FRACTURE HERINGTON AND KRIDER PERFORATIONS AS FOLLOWS:

PUMP 7,000 GALS N2 FOAM PAD, EST. INJ. RATE @ 17 BPM - 1000#. PUMP 4.000# 12/20 SAND @ 1 PPG (4000 GALS N2 FOAM) @ 17BPM - 1100#. PUMP 12.000# 12/20 SAND @ 2 PPG (6000 GALS N2 FOAM) @ 17 BPM - 1100#. PUMP 11,001# 12/20 SAND @ 3 PPG (3667 GALS N2 FOAM) @ 17 BPM - 1100#. PUMP 3,999# 12/20 SAND @ 3 PPG (1333 GALS N2 FOAM) @ 17 BPM - 1150#. FLUSH SAND TO PERFS w/ 1800 GALS N2 FOAM @ 17 BPM - 1200#.

ISIP - 1350#

RECEIVED TTL LIQUID LOAD TO RECOVER = 157 BBLS

SHUT WELL IN. SHUT WELL DOWN.

FEB 2 4 2004

11/25/03

COMANCHE WELL SERVICE ON LOCATION TO CHECK PRESSURE ON CSN AFTER BEING SHUT IN FOR 24 HRS.

KCC WICHITA

SICP - 442#

OPEN CSN TO PIT WELL. KICKED OFF FLOWING FOAM AND NITROGEN. FLOW WELL TO PIT REST OF DAY AND LEFT WELL FLOWING NITROGEN FOAM TO PIT OVERNIGHT.

SHUT DOWN. APPROX. RATE OF FLUID FLOWING IS 22 BBLS PER HOUR.

11/26/03

COMANCHE WELL SERVICE ON LOCATION. WELL STILL FLOWING TO PIT AT A RATE OF 5 BBLS PER HR & FLOWING 205 MCF.

FLOW TEST HERINGTON & KRIDER PERFORATIONS AS FOLLOWS:

1 HR FLOW TEST - REC. 5.00 BBLS, TEST GAS @ 205 MCF 1 HR FLOW TEST - REC. 5.25 BBLS, TEST GAS @ 200 MCF 1 HR FLOW TEST - REC. 5.51 BBLS, TEST GAS @ 216 MCF 1 HR FLOW TEST - REC. 5.77 BBLS, TEST GAS @ 216 MCF 1 HR FLOW TEST - REC. 5.77 BBLS, TEST GAS @ 542 MCF 1 HR FLOW TEST - REC. 5.77 BBLS, TEST GAS @ 516 MCF 1 HR FLOW TEST - REC. 6.38 BBLS, TEST GAS @ 542 MCF 1 HR FLOW TEST - REC. 6.38 BBLS, TEST GAS @ 542 MCF 1 HR FLOW TEST - REC. 6.38 BBLS, TEST GAS @ 542 MCF

LEFT WELL FLOWING TO TANK. SHUT DOWN.

11/27/03

COMANCHE WELL SERVICE ON LOCATION. WELL STILL FLOWING TO SWAB TANK.

MADE 75 BBLS OF FOAMY FLUID TO TANK. HAD FLOWED TO TANK FOR 16 HRS. THIS MAKES RATE OF FLOWING FLUID @ 4.72 BPH.

FLOW TEST HERINGTON AND KRIDER PERFORATIONS AFTER FRAC AS FOLLOWS:

1 HR FLOW TEST - REC. 4.72 BBLS, TEST GAS @ 599 MCF 1 HR FLOW TEST - REC. 3.15 BBLS, TEST GAS @ 571 MCF 1 HR FLOW TEST - REC. 3.15 BBLS, TEST GAS @ 599 MCF 1 HR FLOW TEST - REC. 3.15 BBLS, TEST GAS @ 571 MCF

LET WELL FLOW TO SWAB TANK, SHUT DOWN.

11/28/03

COMANCHE WELL SERVICE ON LOCATION. WELL STILL FLOWING TO SWAB TANK. WELL HAD FLOWED 80.85 BBLS IN A 24 HR PERIOD. THIS IS A RATE OF 3.36 BBLS PER HR.

FLOW TEST HERINGTON AND KRIDER PERFORATIONS AFTER FRAC AS FOLLOWS:

1 HR FLOW TEST - REC. 3.36 BBLS, TEST GAS @ 511 MCF 1 HR FLOW TEST - REC. 3.36 BBLS, TEST GAS @ 511 MCF 1 HR FLOW TEST - REC. 3.36 BBLS, TEST GAS @ 511 MCF 1 HR FLOW TEST - REC. 3.36 BBLS, TEST GAS @ 511 MCF

RECEIVED FEB 2 4 2004 KCC WICHITA

SHUT WELL IN. SHUT DOWN FOR WEEKEND.

12/01/03

COMANCHE WELL SERVICE ON LOCATION TO CHECK PRESSURE ON CASING.

SICP - 340#

SIBHP - CALCULATES 369# w/ NO FLUID IN HOLE. OPEN WELL TO PIT. WELL KICKED OFF FLOWING. COMANCHE RIGGED TO FLOW TEST HERINGTON AND KRIDER PERFS AFTER FRAC.

FLOW TEST HERINGTON AND KRIDER PERFORATIONSAFTER FRAC AS FOLLOWS:

1 HR FLOW	TEST -	REC.	MIST	- BBLS,	TEST	GAS @	1,612	MCF
1 HR FLOW	TEST -	REC.	MIST	OF FLUID,	TEST	GAS @	1,105	MCF
1 HR FLOW	TEST -	REC.	MIST	OF FLUID,	TEST	GAS @	1,023	MCF
1 HR FLOW	TEST -	REC.	11.55	BBLS,	TEST	GAS @	1,105	MCF
1 HR FLOW	TEST -	REC.	6.30	BBLS,	TEST	GAS @	847	MCF
1 HR FLOW	TEST -	REC.	4.72	BBLS,	TEST	GAS @	754	MCF
1 HR FLOW	TEST -	REC.	4.20	BBLS,	TEST	GAS @	729	MCF
1 HR FLOW	TEST -	REC.	4.20	BBLS.	TEST	GAS @	700	MCF

SHUT WELL IN. SHUT DOWN FOR NIGHT.

12/02/03

COMANCHE WELL SERVICE ON LOCATION TO CHECK PRESSURE ON CASING. SICP - 313#

SIBHP - CALCULATES 340# w/ NO FLUID IN HOLE.

T.R. SERVICE AND NICHOLS FLUID SERVICE HIGH PRESSURE KILL TRUCK ON LOCATION TO KILL WELL AND RUN BULLDOG BAILER IN ORDER TO CLEAN FRAC SAND FROM WELL BORE.

RIG UP NICHOLS HIGH PRESSURE TRUCK. PUMP 50 BBLS, 2% KCL WATER TO KILL WELL.

COMANCHE RAN CSN SWAB STEM TO CK. SAND FILL-UP. HAD APPROX. 20' OF FILL-UP.

COMANCHE RIGGED TO RUN 2 3/8" TUBING AND T.R. SERVICE BULLDOG BAILER. RIH - w/ TUBING AND TOOLS.

CLEAN OUT SAND TO TTL DEPTH AT 2709'.

POOH - w/ TUBING AND TOOLS.

FLAPPER ON BAILER HAD STUCK OPEN ON WAY OUT OF HOLE. LOST SAND OUT OF BAILER.

KCC WICHITA

12/02/03 CONT.

COMANCHE RIGGED TO RUN 2 3/8" TUBING w/ BULLDOG BAILER. ADDED EXTRA FLAPPER CHK VALVE TO STRING IN ORDER TO HELP HOLD SAND IN TUBING.

RIH - TUBING AND TOOLS.

CLEAN SAND OUT TO TTL DEPTH @ 2709'. CLEAN OUT APPROX. 20' OF SAND

FILL-UP.

POOH - w/ TUBING AND TOOLS.

CLEAN SAND FOAM TUBING AND TOOLS, BREAK DOWN TOOLS, RIG CSN TO

VENT GAS TO TANK.

12/03/03

COMANCHE WELL SERVICE ON LOCATION, RIGGED TO RUN 2 3/8" TUBING IN HOLE FOR PRODUCTION.

RUN PRODUCTION TUBING A	AS FOLLOWS:	RECEIVED
2 3/8" MUD ANCHOR	15.00'	FEB 2 4 2004

2" SEATING NIPPLE 1.10' 84 JTS 2 3/8" 2649.01 K.B. (10 < 3) 7.00' TUBING SET @ 2680.71' SEATING NIPPLE SET @ 2665.71'

TAG BOTTOM. PICK UP 28' OFF BOTTOM. LAND TUBING.

COMANCHE RIGGED TO RUN BOTTOM HOLE PUMP AND RODS.

RUN BOTTOM HOLE PUMP & RODS AS FOLLOWS:

2 X 11/2 x 12' RWB HOLL/OW ROD w/ 6' G.A.	14.00'
2' ¾ ROD SUB	2.00'
104 ¾	2600.00'
8', 6', 2' x ¾ ROD SUBS	16.00'
1¼ POLISHED ROD w/ LINER	16.00'
	2665.71

COMANCHE SPACED OUT ROD & PUMP CHK. PUMP ACTION WAS OKAY. COMANCHE TORE RIG DOWN, MOVED OFF LOCATION.

> **END OF REPORT** TIM THOMSON